Dr. Shirley's Greek Courses
Grammar

The Passive - Indicative Tenses

The Passive in Greek functions exactly like the Passive in English
The subject is “done to”, rather than “does” : eg “The man was bitten by the dog.”

Endings for Passive Indicative Tenses :

Present Imperfect 1% Aorist 2" Aorist 1% Future 2"! Future Perfect  Pluperfect Future Perfect
—Ooual —Oounv —OBnoopa —T|oOM O —Hol —unv —OOouO1
-1 —ou —Onon —non —oal —00 — o
—ETOl —ETO —bnosTat —TOETO —Tal —TO —OETOl
—opuefa —opuefa —6Bnoopeba —noopsbar  —psba  —pebax  —oopeba
—g00e —g00e —Onte —nTe —Onoeobs —nogobs —o0¢ —o0¢ —oeofe
—ovTOl —OVTO —bnoav  —noav —fnoovTai —TNOOVTAl  —VTAl  —VTO —0oVTal

The Present Passive is formed from the Present Stem.
The Indicative Passive is formed from the augment €— and the Present Stem.
If the Verb has a 1** Aorist Passive, it is formed from the augment €— and the Verbal Stem (the stem used for the 2" Aorist Active)

If the Verb has a 2™ Aorist Passive, it is formed from the augment €— and the Aorist Passive Stem (this Stem is the 6" column in verb tables)
If the Verb has a 1™ Future Passive, it is formed from the Verbal Stem

If the Verb has a 2™ Future Passive, it is formed from the Aorist Passive Stem

The Perfect Passive Stem is formed by reduplication; the Perfect Passive Stem is the 5™ column in verb tables.

The Stem for the Pluperfect Passive is formed by adding an augment to the reduplicated stem - though the augment is often dropped.

The Future Perfect is formed from the Future Stem with reduplication

Many Verbs have slight irregularities in their stems in the Passive, but are usually easy to analyze
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